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Which set of numbers is written in order from greatest to least?

A % 4.4% 10, 72%, 0.67

B 4.4x 10, % 72%, 0.67

C  0.67,72%, 2, 44x10'

D % 0.67, 72%, 4.4 x 10

@Look at the n’ﬁmber below.

~ What is this number in its equivalent percent form?,

A

B
C
D

9

- 10

9%
19%
90%
900%

@ Look at this numbef written in s‘cie-ntiﬁc notation.

5.2 x 10*

. | 'Which number is equivalent?

A
B 5,200
C
D

520

52,000
520,000 -

QHSZ Ee,\/f@w’

Daphne wrote the fractional part of
the quizzes she answered correctly.

Quiz Score

1 .
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Which lists these quiz scores in
order from least to greatest?
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3 3 . 3 3 ) "’
5 Which is ssdered from Teast to go Which set of numbers is written in order from least to greatest?

¢ greatest?

8
K000, 35, &, 3 - 10 h. 5+89%,098,69x 10°

" B. 3+ 10%, 0.003, %, 3% B, 89%,0.98, %, 6.9 x 10°
3 - |
C 15 8%, 0.003,3 - 10" - (' 0.98, 89%, g—, 6.9 x 107 .
i e 3 | |
0 8 =105 5% 0008, 1 D. 6.9x10*0.98, 89%, % l
(0. Look at the number below. I (], How is the number 3,400,000 written in scientific notation? ‘
65% e A 34x10°
Which number is larger? J B 34x10°
1 C 34x10°
k. 3 D 34x10
B. 056
_ Q. 0.60 0, Write the number below in scientific notation.
2
D 3 720 |
A 72x10
B, 72x10
C. 72x10°
D 72x10°

||, Write the number below in scientific notation. |

The shaded part of the square can be

expressed by — 56,000
. |
| 1'
A 0.02 A, 56X101 }
B 20% B, 56x10° |
o 1 C, 56x10° » ;
1 D. S.6x10* |
.
D .
5




r2., If 0.3 < x < 35%, which of the following
could be the value of x?

A

w

D

[ =

QW | =

DN | =

1

| 3, Which number is greatest? |

A. 12x10%
B, 34x10° R
C. 2.3x10* o

D. 12x10° - |

‘L,' A store advertisement reads “Going

'5, A business sold for 45 million dollars. '

Out of Business Sale. Everything is
5

— off.” What percent is é?

8 8

A, 16%

3, 37.5%

C. 58% - i
D. 62.5% -

What is 45 million expressed in
scientific notation?

A, 45 x 108
B, 4.5 x 107
c. 45 x10°
D, 45 10°

‘ (L Which number is greatest?

A 095 !
B 2
10
C 0.89
D

| ], Which statement is not true?

A 29x10°<31x10°
B 72x10°=72x10°
C 22x10°>19x10°
D 3.6x10°=3.6x10°

| Y, Which statement is true?

. 22x10°>3.4x10°
B 67x10°>7.6x10°
C, 95x10°<23x10°
D, 32x107>12x10°

M , Which of the following is not true?

A' g =!0.4 = 40%

0

5 = 0.7 = 70%

-

3.375 ="337.5%

b.
C. 25=25=25%
D.

o
o]
I

70, Which of the following is a true’
statement? %

2
5
N
5
=
5
2
5

A =040 = 4%
< 0.40 < 4%

=040 = 40%

< 0:40-<-40% - -




Comparing and Ordering Decimals - SOL 7.1
Arrange the following from least to greatest.

EX1) 4.12,41.2,4.122, 4,012

4120 b
41200 d
4122 C
4,012 a

Answer: 4.012,4.12,4.122,41.2

What if the question is multiple choice answer form? Like on the SOL
test?? Then what do I do? EASY! Select answer choice “A" as your jump-
off. Line your decimals up, add zeros where necessary, and label in order
given to you with abc’s. Next, don't forget to go back to answer choices
and select the answer that looks like your results from ordering "A."

EX2) Identify the choice that best completes the statement or answers
the question.

1. Arrange the following from least to greatest.
a. .18,.04,.74,.0975 c. .04,.74, 0975, .18
b. .0975, .18, .04, 74 d.  .04,.0975, .18, .74

Answer choice A looks like this ---> .18, .04, .74, 0975
A8 = 1800 ¢ *line decimals up
04= 0400 a *add zeros until equal in “length”
J4= 7400 d *compare and order with abc's
0975= 0975 b *check for matching answer

Answer: .04, .0975, .18, .74 = Answer Dl




Name:

Class: Date:

“omparing and Ordering Decimals SOL 7.1 and 8.1

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Arrange the following from least to greatest:
a. .18,.04,.74, .0975 c. .04,.74,.0975, .18
b. .0975, .18, .04, .74 d. .04,.0975, .18, .74
2. Arrange the following in order from least to greatest:
a. 1.5,.07, .65, .532 c. 1.5,.65,.532,.07
b. .07,.532,.65,1.5 d. .532,15,.65,.07
3. Arrange the following from greatest to least:
a. .72,.5,.012,.5004 c. .72,.5004, .5,.012
b. .5004, .012,.72,.5 d. .012,.5,.5004, .72
4. Arrange the following from greatest to least:
a. .391, .39, .309, .039 & 391,:309, 039, .39
b. .39,.309, .039, .391 d. .039,.391, 39, .039
5. Arrange the following from least to greatest:
a. .52,.502,.62,.602 c. .62,.602,.52,.502
b. .502,.52,.602, .62 d. .52,.62,.502, .602
Completion

Complete each statement.

6.

10.

Arrange the following in order from least to greatest:
3.05,6.75,891,4.23

Arrange the following from greatest to least:
3.12,31.2, 3122, .312

Arrange the following in ascending order:
6.51,6.05, 6.5, 6.65

Arrange the following in descending order:
4.12,41.2,4.122,4.012

Arrange the following in ascending order:
5.6, 56, 5.06, 5.61



omparing and Ordering Decimals SOL 7.1 and 8.1
“Answer Section

MULTIPLE CHOICE
1. ANS: D PTS: 1
2. ANS: B PTS: 1
3. ANS: C PTS: 1
4. ANS: A PTS: 1
5. ANS: B PTS: 1
COMPLETION

6. ANS: 3.05,4.23,6.75, 8.91

PTS: 1
7. ANS: 31.2,3.12, .3122, 312

PTS: 1
8. ANS: 6.05,6.5, 6.51, 6.65

PTS: 1
= 9. ANS: 41.2,4.122,4.12,4.012

PTS: 1
10. ANS: 5.06, 5.6, 5.61, 56

PTS: 1
11. ANS: 2.501, 2.5, 251, .0025

PTS: 1
12. ANS: .085, 8.085, 8.5, 85

PTS: 1
13. ANS: 2.0475, 2.475,24.75, 247.5

PTS: 1
14. ANS: 1.1, 1.001, .11, .001

PTS: 1
15. ANS: .714,7.014,7.14,71.4

PTS: 1




Comparing and Ordering Rational Numbers - SOL 7.1
6uided Practice

1. Which set of numbers is written in order from greatest to least?
A)  2.44x10',72%,0.67
B) 44x10'2,72%,067
C) 067,72%, 1, 4.4 x 10*
D) £, 067,72%, 4.4 x 10*

Blw

Reminder: Select answer choice A as your starting point.

Original Number Decimal Line Up abcd

3
py

i
1]
1]

= 44 = = be careful herell

= = 0.72

i

a___ don't forget to order!

2. Arrange 3/10,72.5%, 23,3/2, 1° from least to greatest.
A) 23,3/2,3/10,1° 72.5%
B) 3/10,725%,1° 3/2, 23
C) 3/10,3/2,725%,1°, 23
D) 1% 2% 3/10, 72.5%, 3/2

Reminder: Select answer choice A as your starting point.

Original Number Decimal Line Up abcd
23 = = = be careful herel
= 15 = =
3/10 = = =
= = 1.000 = don't forget to order!

72.5% = =




Comparing and Ordering Real Numbers
SOL 7.1

List each set of numbers in order from least to greatest.
*Reminder: Convert all numbers into decimals. Line them up and compare them.

1. 4/5,2.3 x 10°, 87%, 0.45, 32
4/5 =
2.3x10°=
87% = — =

0.45 =
3=

2. 5,2°,98%,2.68, %
=
2°=
8%=___ =

2.68 =

i

5 =
List each set of numbers in order from greatest to least.

3. 53%,5.3, 3°,3/5, 5.3 x 10
53% =
53=
3°=

3/5 =
5.3 x 10'=

4. 120%,1.2 x 10?, £, 12, 62
120% =
1.2 x 10%=

N
[}
1]

12 =
6°=
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Virginia Mathematics Item Bank

Om>

Om >

Choose the symbol that makes
the statement correct.

?

2 3
3 5

v A

Choose the symbol that makes
the statement correct.

54 x10* _? 5.40x10*

v A

Which is equivalent to 25%7?
2.5

25

10

3
4

1
4

SOL 7.1

Which is NOT equivalent to ‘2‘?

36%
0.5

50%

N -~

Which shows g expressed as a
fraction, a decimal, and a
percent?

%, 0.34, 34%

g, 0.68, 68%

3 0.75, 75%
4

g, 0.75, 7.5%

Copyright © 1999-2007, S.S. Flanagan & D.E. Mott

Do not reproduce without permission. 7-1-07



Virginia Mathematics Item Bank SOL 7.1

6. What fraction could you place 8. Which list of fractions is NOT in
in the blank to make a true order from least to greatest?
statement?

A 1T 1 1
0.15 < < 85% 4’3" 2
9
A — B 132
10 3'4'5
B L4 C 368
@ 68" 10
9
cC = 1 4 6
6 D Py ey Ry
2" 5 5
p 8
7 9. What is the value of 43 ?
. 5 A 12
7. Amange _, 5%, 57 0-85,80%; 'C3 (252
and 2, from least to greatest. D 88
13 52 c1 ano 10. Whatis4 x4 x5x5in
A 27 4’ 2% 5, 80%, 0.85 exponential form?
A 40
B 1,3, 80%, 085, 5, 22 B 47,5
2" 4 4 5
C 2°x2
1" 3 D 400
C 80%, —, =, 225 0.85
2 4
5 3 11. What is 1.73 x 10* in standard
D —, >, 80%,0.85,2? 5! form?
2 4
A 173
B 1,730
C 17,300
D 173,000

Copyright © 1999-2007, S.S. Flanagan & D.E. Mott 2 Do not reproduce without permission. 7-1-07



Virginia Mathematics Item Bank

SOL 7.1
12. What is 12,400,000 in scientific 15. If 20% of a cake is left on the
notation? plate, what would the
fractional equivalent of the
A 1.24x10° piece of cake be?
B 12.4x10°
C 1.24x10° A 1
D 1.24x 10’ 20
B 10
13. Which of the following 20
numbers is the largest?
1
A 7.5x10° C. =
B 5.6x10°
C 6.1x10° -
5 S
D 65x10 20
14. The percent of each type of
TMUSIE iy Kim S.CD collection is 16. Susan bought a soccer ball on
shown in the circle graph. 1
Which type of music is sale for $25, which was 5 off
equivalent to 3 of her the original price. What
llection? 25 decimal represents the
collection? discount she received?
Kim's CD Collection A 0.05
B 0.15
Fack P C 0.20
28%, Q d D 0.50

COow>

Rivwthn &
Eluzs 7

B L
ans Llassical
1%

Country

Rock

Rhythm and Blues
Classical

Copyright © 1999-2007, S.S. Flanagan & D.E. Mott

Do not reproduce without permission. 7-1-07



Virginia Mathematics Item Bank

17. A sixth-grade class conducted

18.

oOOw>»

a survey to find out what kinds
of pets their classmates
owned. They discovered that
60% of the pets owned by the
students were dogs. What
fractional part of the pets were
not dogs? '

=
5

WIN

o1 w

Mrs. Smith noticed that % of

the class had completed the
test within 30 minutes. What
percent of the class was still
working on the test?

25%
50%
75%
80%

SOL 7.1

19. Four students are comparing

oOow>»

(v Nol-- b

their heights. Ted's height is
4% feet, Donald's height is 4.8

feet, Jason's height is 4% feet,

and Justin's height is 4.2 feet.
Which student is the shortest?

Ted
Donald
Jason
Justin

. A librarian arranged some

books on the shelf using the
Dewey decimal system. Choose
the group of book numbers
that is listed in order from
greatest to least.

726.3,726.02, 726.101, 726.010
726.02, 726.3, 726.101, 726.010
726.3,726.101, 726.02, 726.010
726.010, 726.02, 726.101, 726.3

. Which group of numbers

contains an equivalent fraction,
decimal, and percent?

, 50.0, 5%

N =

4 0.80, 8%
5

g, 0.75, 75%
4

1 25 259
4

Copyright © 1999-2007, S.S. Flanagan & D.E. Mott
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Virginia Mathematics Item Bank SOL 7.1

22. In a sample of light bulbs, 14% 24. Which of these is correct?
were defective. What fraction

ive?
of the bulbs were defective? A 50% < % < 0.74

B o 3

14 B~ >50%>0.74
B 3

50 C 0.74>50% < il

5
s D 50% <0.74> >

4

p 23

50 25. Arrange the following from

largest to smallest.

23. Which of the following sets of 3

3
il o 3 9 0
equivalent fractions, decimals 10’ 72.5%, 2°, 2! 1

and percents is incorrect ?

39 A 23, 210 75y
A 039="2 =399 2’ 10
100
3 3
B 2°, 2, 1% 72.5%, =
B 0534=23% _ 53.4% 2 10
1000
- c 3, 2 725%1° 23
C 09=""" =90% 2 10
100 , \
D 1° 23, =, 72.5%, =
D 6.07="2° _607% 10 2
1000

Copyright © 1999-2007, S.S. Flanagan & D.E. Mott 5 Do not reproduce without permission. 7-1-07



